Requisition

Supplier: AMAZON.COM

BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108 **United States**

email:

Ship To:

RECEIVING 10 COLLEGE PARKWAY FOLSOM CA 95630-6798 0000006424

OPEN **Business Unit:** GENFD Page Req ID: Date 0001049229 03/26/2024 Requisition Name: AMAZON.COM Requester Travis Miller Requester Signature Buyer: Brenda Haney

Approved:

Entered By: CHADWICS 26-MAR-2024

Line-Schd	Description	Quantity UOM		Price	Extended Amt Due Date
1-1	PLUSRITE 7204 07204 - BAPS100-HX/V4 METAL HALIDE BALLAST	4	EA	47.52	190.08 03/26/2024
2-1	30 PACK FO32/841/ECO - 32W 4100K T8 BULBS 800 SERIES - SYLVANIA 21781	12	EA	106.36	1,276.32 03/26/2024
3-1	(25 PACK) SYLVANIA 20669 CF26DD/E/841/ECO 26-WATT 4100K 4-PIN DOUBLE TUBE COMPACT FLUORESCENT LAMP	19	EA	67.81	1,288.39 03/26/2024
4-1	ADVANCE 71A5570-001D - 150/175 WATT - METAL HALIDE BALLAST - ANSI M57/M107-INCLUDES DRY CAPACITOR AND BRACKET KIT	11	EA	69.85	768.35 03/26/2024
5-1	EDWIN GAYNOR LH0658 285-QX-BS 26W, 32W, 42W G24Q-3, GX24Q-4 C	12	EA	8.98	107.76 03/26/2024
6-1	SYLVANIA 21779 - F032/835/ECO - 32 WATT FLUORESCENT TUBE - T8 - 30000 HRS - 2950 LUMENS - 3500K - 800 SERIES PHOSPHORS - CASE OF 30 BY SYLVANIA	1	EA	124.56	124.56 03/26/2024
7-1	ALUXCIA GX24QG24Q LED 4-PIN BASE LIGHT BULB 22W (42W CFLCOMPAST FLUORSCENT LAMP EQUIVALENT) GX24 LED PL-C RECESSED LAMP, REMOVEBYPASS THE BALLAST, 6000K, 2-PACK, 22 WATTS, 2 PACK DAYLIGHT	15	EA	23.99	359 . 85 03/26/2024
8-1	HANDLANDY WORK GLOVES MENS & WOMEN, UTILITY SAFETY MECHANIC WORKING GLOVES TOUCH SCREEN, FLEXIBLE BREATHABLE YARD WORK GLOVES (2X-LARGE (PACK OF 1), ORANGE)	3	EA	12.16	36.48 03/26/2024
9-1	(25 PACK) SYLVANIA 20890 CF42DT/E/IN/841/ECO 42-WATT 4100K 4-PIN TRIPLE TUBE COMPACT FLUORESCENT LAMP	4	EA	105.27	421.08 03/26/2024

4,572.87 Sub-total 354.39 Est. tax

Total Requisition Amount: 4,927.26

Order #114-7684504-1285009 Order #114-6137847-1654632 Order #114-7992023-9460265 Order #114-7576855-8951414 Order #114-3201080-7924260 Order #114-0615023-3777023

Approval Signature	Approval Signature	Approval Signature

Requisition

Supplier: AMAZON.COM

BILLING DEPARTMENT P O BOX 80463 SEATTLE WA 98108 **United States**

email:

Ship To:

RECEIVING 10 COLLEGE PARKWAY

FOLSOM CA 95630-6798

0000006424

OPEN Business Unit: GENFD Req ID: Date Page 0001049229 2 03/26/2024 Requisition Name: AMAZON.COM Requester Travis Miller Requester Signature

Buyer: Brenda Haney

Approved:

Entered By: CHADWICS 26-MAR-2024

Line-Schd Description Quantity UOM Price Extended Amt Due Date

Acct Fd 4500 11
 Org
 Prog
 Sub
 Proj

 FL.VA.CUST
 65100
 00000
 041A
 <u>BU</u> **Amount** 4,572.87 GENFD



Details for Order #114-7684504-1285009

Paid By: LOS RIOS CCD Placed By: Sera Chadwick Order Placed: March 26, 2024

Amazon.com order number: 114-7684504-1285009

Order Total: \$116.16

Business order information

Requisition number: 0001049229

Not Yet Shipped

Items Ordered Price

12 of: Edwin Gaynor LH0658 285-QX-BS 26W, 32W, 42W G24q-3, Gx24q-3, Gx24q-4 C

\$8.98

Sold by: Semperlite, LLC (seller profile)

Condition: New

Shipping Address:

FOLSOM LAKE COLLEGE - RECEIVING 10 COLLEGE PKWY FOLSOM, CA 95630-6798

United States

Shipping Speed:

Economy Shipping

Payment information

Payment Method: Item(s) Subtotal: \$107.76
Pay by invoice

Shipping & Handling: \$0.00

\$8.40

Total before tax: \$107.76

Estimated Tax:

Grand Total: \$116.16

To view the status of your order, return to Order Summary.



Details for Order #114-0615023-3777023

Paid By: LOS RIOS CCD Placed By: Sera Chadwick Order Placed: March 26, 2024

Amazon.com order number: 114-0615023-3777023

Order Total: \$2,897.74

Business order information

Requisition number: 0001049229

Not Yet Shipped

Items Ordered Price

12 of: 30 Pk F032/841/ECO - 32W 4100K T8 Bulbs 800 Series - Sylvania 21781 \$106.36

Sold by: Light Bulbs International (seller profile)

Condition: New Ships same day you order with USPS tracking information

M-F

19 of: (25 Pack) Sylvania 20669 CF26DD/E/841/ECO 26-Watt 4100K 4-Pin Double Tube Compact Fluorescent Lamp

\$67.81

Sold by: Light Bulbs International (seller profile)

Condition: New

1 of: SYLVANIA 21779 - FO32/835/ECO - 32 Watt Fluorescent Tube - T8 - 30000 Hours - 2950 Lumens - 3500K - 800 Series

\$124.56

Phosphors - Case of 30 by SYLVANIA

Sold by: Light Bulbs International (seller profile)

Business Price Condition: New

Shipping Address:

FOLSOM LAKE COLLEGE - RECEIVING 10 COLLEGE PKWY FOLSOM, CA 95630-6798 United States

Shipping Speed:

Standard Shipping

Payment information

Payment Method: Item(s) Subtotal: \$2,689.27

Shipping & Handling: \$0.00

Total before tax: \$2,689.27 **Estimated Tax:** \$208.47

Grand Total: \$2,897.74

To view the status of your order, return to Order Summary.



Details for Order #114-3201080-7924260

Paid By: LOS RIOS CCD Placed By: Sera Chadwick Order Placed: March 26, 2024

Amazon.com order number: 114-3201080-7924260

Order Total: \$427.05

Business order information

Requisition number: 0001049229

Not Yet Shipped

Items Ordered Price

15 of: Aluxcia GX24QG24Q LED 4-Pin Base Light Bulb 22W (42W CFLCompact Fluorescent Lamp Equivalent) GX24 LED PL-C

ent) GX24 LED PL-C \$23.99

Recessed Lamp, RemoveBypass The Ballast, 6000K, 2-Pack, 22 Watts, 2 Pack, Daylight

Sold by: Bonlux® (seller profile)

Business Price Condition: New

3 of: HANDLANDY Work Gloves Mens & Women, Utility Safety Mechanic Working Gloves Touch Screen, Flexible Breathable Yard

\$12.16

Work Gloves (2X-Large (Pack of 1), Orange)

Sold by: HANDLANDY (seller profile)

Business Price Condition: New

Shipping Address:

FOLSOM LAKE COLLEGE - RECEIVING 10 COLLEGE PKWY FOLSOM, CA 95630-6798

United States

Shipping Speed:

Consolidated Shipping in fewest deliveries

Payment information

Payment Method: Item(s) Subtotal: \$396.33

Shipping & Handling: \$0.00

Total before tax: \$396.33 **Estimated Tax:** \$30.72

Grand Total: \$427.05

To view the status of your order, return to Order Summary.



Details for Order #114-7576855-8951414

Paid By: LOS RIOS CCD Placed By: Sera Chadwick Order Placed: March 26, 2024

Amazon.com order number: 114-7576855-8951414

Order Total: \$827.86

Business order information

Requisition number: 0001049229

Not Yet Shipped

Items Ordered Price

11 of: Advance 71A5570-001D - 150/175 Watt - Metal Halide Ballast - ANSI M57/M107- Includes Dry Capacitor and Bracket Kit

\$69.85

Sold by: Sunray Lighting (seller profile)

Business Price Condition: New

Shipping Address:

FOLSOM LAKE COLLEGE - RECEIVING 10 COLLEGE PKWY FOLSOM, CA 95630-6798

United States

Shipping Speed:

Standard Shipping

Payment information

Payment Method: Item(s) Subtotal: \$768.35
Pay by invoice

Shipping & Handling: \$0.00

Total before tax: \$768.35

Estimated Tax: \$59.51

Grand Total: \$827.86

To view the status of your order, return to Order Summary.



Details for Order #114-7992023-9460265

Paid By: LOS RIOS CCD Placed By: Sera Chadwick Order Placed: March 26, 2024

Amazon.com order number: 114-7992023-9460265

Order Total: \$453.72

Business order information

Requisition number: 0001049229

Not Yet Shipped

Items Ordered Price

4 of: (25 Pack) Sylvania 20890 CF42DT/E/IN/841/ECO 42-Watt 4100K 4-Pin Triple Tube Compact Fluorescent Lamp

\$105.27

Sold by: Lean Light (seller profile) **Business Price**

Condition: New

Shipping Address:

FOLSOM LAKE COLLEGE - RECEIVING 10 COLLEGE PKWY FOLSOM, CA 95630-6798

United States

Shipping Speed:

Standard Shipping

Payment information

Payment Method: Item(s) Subtotal: \$421.08 Pay by invoice

Shipping & Handling: \$0.00

Total before tax: \$421.08 Estimated Tax: \$32.64

Grand Total: \$453.72

To view the status of your order, return to Order Summary.



Details for Order #114-6137847-1654632

Paid By: LOS RIOS CCD Placed By: Sera Chadwick Order Placed: March 26, 2024

Amazon.com order number: 114-6137847-1654632

Order Total: \$204.80

Business order information

Requisition number: 0001049229

Not Yet Shipped

Items Ordered Price

4 of: Plusrite 7204 07204 - Baps 100-Hx/V4 Metal Halide Ballast, \$47.52

Sold by: LumenNation (seller profile)

Business Price Condition: New

Shipping Address:

FOLSOM LAKE COLLEGE - RECEIVING 10 COLLEGE PKWY

FOLSOM, CA 95630-6798

United States

Shipping Speed:

Standard Shipping

Payment information

Payment Method: Item(s) Subtotal: \$190.08
Pay by invoice

Shipping & Handling: \$0.00

Total before tax: \$190.08

Estimated Tax: \$14.72

Grand Total: \$204.80

To view the status of your order, return to Order Summary.